
INSTRUCTIONS 
J00698 	 REV 10 8 96 

Kit Number 52775-71 

MINI-LUGGAGE RACK 

General 

This kit consists of the following: 

ITEM QTY DESCRIPTION 
1 1 Mini-rack 
2 2 Bolt 5/16-18 x 1/2 in. 
3 2 Bolt 1/4-20 x 1 in. 
4 2 Acorn nut 
5 2 Bracket 

6044 

Installation 

1. See Illustration. Tighten 5/16-18 x 1/2 in. bolts (item 2) 
to 25-30 ft-lbs. Tighten 1/4-20 x 1 in. bolts (item 3) to 
13-16 ft-lbs. 

4\ 
1 	 i 	2 

\ 	\I 	dr 
..mINMER1114111 

diliftilliaillii  

• 


